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MULTIPLE CHOICE PROBLEMS (10 Points each)
I I

A spherical steel pressure vessel (diameter 480 mm, thickness 8.0 mm) is coated with a brittle

lacquer that cracks when the strain reaches 150 x 10, The gage pressure p that will cause the
lacquer to develop cracks is most nearly
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A hemispherical window (or viewport) in a decompression chamber is subjected to an internal air

pressure of 80 psi. The port is attached to the wall of the chamber by 18 bolts. If the radius of the
hemisphere is 7.0 in. and its thickness is 1.0 in., the tensile force in each bolt is most nearly
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3. A beam of length L, simply-supported at each end, is subj ected to a distributed load that results in an

internal bending moment given by M ( ) gLx _ q where x is the position along the length of the

beam. The equation of the deflection curve for this beam is 0 o > c
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4. A simply-supported beam is subJected to the loading conditions shown below. The deflection at the
midpoint C of the beam is given by
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5. A continuous beam is subjected to the linearly varying load shown below. The reaction at the center

support, R¢, is given by qC
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